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TEEE | 10 | BB | 6 |SRC| 135387 812327 15 DK 446
EEE— 10 | ®@| 6 |SRC 30 2DK 539 71 2 O | #;HHR 1 1 iR
10 | &&| 6 [SrRC 30f 21 [ RS 71.4
I S s 0 S S O S S S S S S Sy S
JE 60 | &t [ 5 | RC 576.32 | 2,752.19 40 3DK 62.7 0 [,
KSgE | 61 | &t | 5 | RC 57481 | 2,752.46 40 3DK 62.7 0
1588 13 | @& | 8 |SRC| 73580 4,884.27 15 1DK 44.2
13 | @ | 8 [SrRc 16 2DK 52.2 1
o 13 | B | 8 |SRC 30 3 5] 3LDK 70.9 R
EAE= 258 | 15 | @B | 8 |SRC| 102081 ] 492981 37 2DK o O | #mAHA 8 ! =
15 | @& | 8 |SRC 25 4 3LDK 68.2 ! e
354 17 | @& | 8 | RC| 123216 | 7,526.88 8 1DK 44.1
17 | & | 8 | RC 22 2DK 51.8 2
17 | @ | 8 | RC 74 3LDK 70.9
IS S s 0 S S S O S 7 S S S S Sy S S
1588 [ 56 [ & | 5 [SRC] 28644 ] 140971 20 3DK 61.2
28f8 | 57 | &t | 5 | SRc| 28644 | 140971 20 3DK 61.2
38fE | 57 | &t | 5 | SRc| 42955 2,114.82 30 3DK 61.2
4248 | 58 | it | 4 [Src| 45245 1,634.16 24, 3DK 60.1
5548 | 58 | it | 3 |sRc| 287.16] 85884 12 3DK 62.7 .
& & 65fE | 58 | &t | 3 [SRc| 287.16| 85884 12 3DK 62.7 266 0 o |#mHR 2 ! REE
7588 | 58 | &t | 3 |SRc| 42942 1288.26 18 3DK 62.7
gefE | 59 | &t | 5 |SrRc| 28740 1376.22 20 3DK 62.7
o5fE | 59 | &t | 5 | SRc| 43075 2,064.23 30 3DK 62.7
10848 | 59 | &t | 5 |SrRc| 28740 1376.22 20 3DK 62.7
NN S ) 5 S S S O S A S S S S S S Sy
20 | W | 5 | RC 47210 | 2,297.81 10 1DK 45.6
158 | 20 | &t | 5 | RC 15 3DK 53.9 1
20 | @it | 5 | RC 15 3DK 65.6 .
iR
20 | &t ] 4 | RC 618.25 | 2,128.95 12 1DK 456 .
FEE 2588 | 20 | &t | 4 | RC 16 3DK xR 1 o |#mHR 2 !
20 | it | 4 | RC 8 3DK 65.6
584 | 62 | $mt| 4 | RC 634.16 | 2,193.72 32 3DK 63.0 0 [,
654 | 63 | $mt| 4 | RC 317.08 | 1,097.20 16 3DK 63.0 0
4
23 5 | RC 722.16 | 3,207.50 4 1DK 44.8
1588 23 | | 5 | RC 10 2DK 54.7 1 faimeR
23 | #it| 5 | RC 30 3DK 67.2
FiFE 17568 1 it | 4 | SRC| 26472 | 1,058.86 16 3DK 60.1] 110 0 O | #mHR 1 1
18588 1 it | 4 [SRc| 26472 | 1,058.86 16 3DK 60.1 0
= Rk
19888 | 63 | it | 4 | SRC| 28740 1,104.91 16 3DK 62.7 0
205 8K 2 difif | 3 | RC 41242 | 1,237.27 18 3DK 62.7 0
5
T4 | =2 | 8 |SRC| 70081 420952 3 1DK 458
158 | 14 | ®@ | 8 |SRC 32 2DK 54.9 1
14 | &E | 8 [src 21 3LDK 70.5 . .
FEE T TZ8 5 1 rc T R 5 oK Y 138 O |#HHR 1 1 iR
288 | 17 | ®@| 8 | RC 32 2DK 53.7 1
17 | &&| 8 | RC 35 3LDK 69.5
I S s S S S S S S S S S S S Sy Sy S
1588 2 difif | 3 | RC 274.98 824.94 12 3DK 62.7 0
2548 3 difit | 5 | RC 529.42 | 2,647.12 40 3DK 60.1 0 JR=E 3
35 HE 2 difit | 3 | RC 396.24 | 1,188.73 18 3DK 60.1 0
ABfE | 20 | & | 6 | RC 75473 | 3,710.59 6 1DK 39.94
20 | &t | 6 | RC 24 2DK 53.14 1
20 | &t ] 6 | RC 28 3DK 65.81
BSfE 20 | &ifit| 6 | RC 47210 | 2,297.81 6 1DK 39.94
- 20 | &t | 6 | RC 12 2DK 53.14 1 .
 H 20 | &t | 6 | RC 17 3DK 65.81 825 o |#mHR 8 !
CEE 22 | &t | 6 | RC 881.96 | 4,503.19 12 1DK 39.94 faimeR
22 | &ift| 6 | RC 24 2DK 53.14 1
22 | &t ] 6 | RC 36 3DK 65.81
DEEE | 24 | Zmt| 6 | RC 881.07 | 4,450.04 12 1DK 39.9
24 | &t | 6 | RC 24 2DK 53.8 1
24 | &t | 6 | RC 11 3DK 65.8
24 | &t | 6 | RC 24 3DK 65.8
NI S 0 S S S S S S S S S S S Sy S S
1548 54 | it | 5 [ RC 36541 | 1,992.60 30 3DK 575
258 54 | difif | 5 | RC 243.68 | 1,328.40 20 3DK 575
358 55 | difif | 5 | RC 36541 | 1,928.01 30 3DK 575
458K 55 | difit | 5 | RC 36541 | 1,928.01 30 3DK 575
5588 54 | difif | 5 | RC 243.68 | 1,328.40 20 3DK 575
6588 54 | difif | 5 | RC 365.41 | 1,992.60 30 3DK 575
N #E 7588 55 | difif | 5 | RC 36541 | 1,928.01 30 3DK 57.5| 441 0 o LP 2 1 REE
85 EE 56 | @it | 5 | RC 42890 [ 2,117.40 25 3DK 60.1
56 | Fiif| 5 | RC 5 4DK 724
o5 g 56 | @it | 5 | RC 42890 [ 2,117.40 25 3DK 60.1
56 | it | 5 | RC 5 4DK 724
10548 | 56 | it | 5 | RC 274.33 | 1,337.20 20 3DK 58.3
11588 | 55 | #fit | 5 | RC 36541 | 1,928.01 30 3DK 575
I S S S S S S ) S S S S S S s
1588 60 | i | 5 [SRC] 430.75 | 2064.23 30 3DK 62.7 0
= Rk
254K 61 | &t | 5 | RC 430.75 | 2,064.23 30 3DK 62.7 0
3SHE 7 Fifit | 3 | RC 531.98 | 1,187.04 10 5 1| 3LDK 703 0
o F 458 7 it | 5 [SRC| 661.61] 1,947.64 14] 12 3LDK 70.3| 152 0 o LP 2 2
55fE 7 | @@ | 8 |SRC| 543.76 | 4,174.78 6 2LDK 69.7 faimeR
7 | @] 8 |srRC 12l 21 4] 3LDK 69.7 1
7 | @] 8 [SRC 7 2DK 474
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